TS FE FHHA - \REBHIRERIERS

EHES  18-17-23-028
ERBEaE NMNHAEER
EE - B - R RBRABE - ZEERE

BL  REXE
ZEEH 0E
FEERS
FHIER
FHER

B oo




BERRE

SHSEE HI- )\ EEERIBIERIT L%

£ b R - ARk B 2 i & # =
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2 b g - BIRTE By = B ® # " =
AR (A)
A 2.00 55, 200. 00 110, 400
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&5 :3
&% B8E - /\REOREHMEO®RE 1Y
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7.00 45, 300. 00 317,100
AR (C)
2.50 35, 600. 00 89, 000
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A 2.00 70, 900. 00 141, 800
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A 2.50 62, 200. 00 155, 500
AR (A)
A 2.50 55, 200. 00 138, 000
e (B)
A 2.50 45, 300. 00 113, 250
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A 2.50 35, 600. 00 89, 000
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& Hi 1E%HeH - 1.00K 110, 000. 00 110, 000




